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Math worksheet on 'Radicals - Multiplying
Monomials with Binomials (Values and Variables)
(Level 3)'. Part of a broader unit on 'Radicals -
Multiplication Intro’

Learn online: app.mobius.academy/math/units/radicals multiplication intro/

2 Multiply the radical expressions and simplify
the answer

(4npv/13 — ny/Tnp) - n?p*V/7

a 4n3p3\/9_1 - 7n3p3\/n_p b 4n2p3\/ﬁ - 7n3p2\/n_p
c n*p3Vo1 - 7np? /np d 4n*p*v/91 — Tnp/np
e an3p*/91 — Tnp?/np f an3p*/91 — Tnp?/np

4 Multiply the radical expressions and simplify

the answer
(5p4/3p +pv11) - p4/13p
a 5,330+ p2 /1831 B 553304 p2,/143p
C 5,530+ p°v/143p 9 55330+ p2V143
€ 5,330+ py/143p f o o5pv30 4 p2/183p

6 Multiply the radical expressions and simplify
the answer

zV/3b - (V7 + 4v13bz)

A  .\21b+ 4zbv/30z b .21+ 42bv302
2V/21b + 42+/39bz d 20216 + 426302
€  1\21b+ dabyz f o ov21b+ 422030
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1 Multiply the radical expressions and simplify
the answer

zbvV/2b - (bv/11zb — 52+/11)

a .15V -5:20v22 2D
V227 — 52322 d
2b3v 22z — 5220222

bV 22z — 52°bv/22b
xb3v/22x — 52%b°v/22b
zb*V/22x — 5z°bV/22b

w

Multiply the radical expressions and simplify
the answer

v/ 2pd - (pdv/'5 + 4pdv/2)

pdy/10pd + 8pdy/pid B pd\/10pd + 8p*d\/pd
C  pd?/10p+8pdy/pd 9 p’d\/10pd + 8pdy/pd
€ ,dy/10pd+8pdy/pd §  pdy/10pd + 2pdr/pd

Q

5 Multiply the radical expressions and simplify
the answer

V3z - (3nV5 — Vbzn)

3nv1bx — v 1bxn b
c 3nzv15 — 2v/15n d
e 3nv1bzx — m\/ﬁ f

3nvV1bx —v15n
3nv15x —xv15n
3nxzv 15z — v 15n

7 Multiply the radical expressions and simplify
the answer

dv'3d - (4zd*V 2z + V/11)

a 4426z + dv33d b 4432v6dzt + dv33d

C  4d’zv6dz + dV33 d  4832v6dz + dv33d
€ 4P2vVedzr+dV33d F 5d2v6ds + dv33d
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